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QUESTION: 36 
Which of the following is NOT a VSAP web application? 

A. Service Navigator 
B. Security Management 
C. Inventory Management 
D. Fault Management  

Answer: A 

QUESTION: 37 
Which Nokia product is the core component of VNO? 

A. Cloudband Network Director (CBND) 
B. CloudBand Application Manager (CBAM) 
C. CloudBand Infrastructure Software (CBIS) 
D. Nuage Networks Virtualized Services Directory (VSD) 

Answer: B 

QUESTION: 38 
Which of the following statements about the Nuage Networks SD-WAN portal is 
TRUE? 

A. It runs directly on any Linux-based bare metal server. 
B. It is packaged as a docker container. 



C. It is deployed as a KVM, Hyper-V or ESXi virtual machine. 
D. It must be hosted in a public cloud such as AWS.  
 
 
Answer: A 
 
 
QUESTION: 39 
Which protocol is used between VSAP and the VSC? 
 
 
A. XMPP 
B. OpenFlow 
C. BGP and OSPF or ISIS 
D. SNMP  
 
 
Answer: D 
 
 
QUESTION: 40 
Which of the following statements about the SD-WAN portal is TRUE? 
 
 
A. The SD-WAN portal is an optional addition to the Nuage Networks VNS solution. 
B. The SD-WAN portal cannot be deployed as a high availability cluster. 
C. The SD-WAN portal is configured either by the Graphical User Interface (GUI) or a 
Command Line Interface (CLI). 
D. The SD-WAN portal cannot be used to bootstrap NSGs.  
 
 
Answer: A 




